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Seating Arrangement Questions for IBPS PO PRE, SBI PO PRE, SBI CLERK
MAINS, IBPS CLERK MAINS & IBPS RRB Exams.

Set No 43

Directions: Study the following information carefully and answer the questions given beside.

O, P, Q, R, S, Tand U are sitting in a straight line all facing north direction, but not necessarily in the
same order.

There is only one person sitting between T and Q. S sits between O and R. There are only two persons
between S and U. T sits on the immediate left of O, who sits in the middle of the row.

1. Which of the following pairs of person are sitting at the extreme ends?

A.UP B.R, Q C.P,Q D.O, T E. None of these

2. Which of the following persons is sitting between O and R?

A.S B.P C.Q D.U E. None of these

3. Which of the following statements is incorrect?

A. Qis second to the left of T. B. P is second to the right of S.
C. O and S are immediate neighbours of T.  D. R is immediate left of P
E. None of these

4. Which of the following person is sitting third to the left of R?

A.Q B.T C.P D.O E. None of these

5. How many persons are sitting between Q and S?

A. Only one B. None C. Two D. Three E. None of these

Correct Answers:




Common Explanations:

Reference:
T sits on the immediate left of O, who sits in the middle of the row.

Note: From the above reference, we can say that there will be sitting three persons on the right side of O and
three persons will be sitting on the left side of O.

Hence, T is immediate left of O.

Reference:
S sits between O and R.

Note: Here, R will be sitting second to the right of O.

Reference:

There is only one person sitting between T and Q.

Note: From the above reference, we can say that Q will be sitting second to left of T.
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Reference:
There are only two persons between S and U.

Note: From the above reference, we can say that U will be sitting third to left of S. and P will be sitting
extreme right end.

T

And the seating gets done.

Answers :
1. Following the final seating arrangement, we can say that P and Q are sitting at the extreme ends of the
row.

Hence, the correct answer is option C.

2. Following the final seating arrangement, we can say that S is sitting between O and R.
Hence, the correct answer is option A.

3. Following the final seating arrangement, we can say that the immediate neighbours of T are O and U.
Hence, the correct answer is option C.

4, Following the final seating arrangement, we can say that T is sitting third to the left of R.
Hence, the correct answer is option B.

5. Following the final seating arrangement, we can say that there are three person sitting between Q and
S.
Hence, the correct answer is option D.
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